(0000 0000 )skatingspin-qa030210.tex

gbboooobboouoobboobobboobobooboobobooobbbbbbon
goooogoov/ oOoooboboomb0bOb0O 2000000000000000DODDOODO
0000000000000 0000000000o00 ¢/2000000000000000
gbouogoobouboobouodgbboobbbobbobuooooobooooobon
gboboobboogobobobbbbouogbbbobobbuooogbbuoooouooon
ggdouooboboobodobbooobboooao

l.o0bgbooobooobobooboobo Lboobooboboooobbooob Loobooo

2.00ggooouooobobb bbb bboobb vyoooog

. uogoobooooobbobobobooboobbobooboboobnyoobg,
goboboobooboboboboboboobbbobogo

4. 0000000000 b0owioobooboboboobbobbobod

(Coo)

lL.gbooboooboooad o

l 1

Iy = 2x m(§)2 = §m€2, (1)
l 1

Il = 2X m(1)2 = ngQ (2)

2.00000bo00b00ob0 0

Iow() = Ilwl — W1 = I—(I)WO = 4(,00. (3)
3.0000
1 7 1
Ty = 2x ém(éwo)Q = Zmﬁw?), (4)
Lol 1 2 2
T = 2% ém(zwl) = 1—6m€ wi = mlwg. (5)
goooooog4b0bogoonoo
4.
¢/4 , 00 ,
W = - s 2mrw* dr (000000 2(§)m(§)w0 = 2mrw)
02 Py, 1 mltwd 1 4
= - g A= T
3
= ZmEQwS = T1 - T() (6)

ggbooboobbouobuoooboobuooboooboobbobomoobobon
gbobugooduoguguobogougobubogobobuabibond



